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Look it Up!
PART A: Grammar and Vocabulary Y om0
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct #9 dxiwo 5 §+ Axiso
choice on your answer sheet. ¥ oSt 5
. . . . Understanding People
61-Last year, some of his friends told him to start a new business, but he had ... dollars | “A Healthy Ligfestyﬂ
to be exact. Yoloes
1) little money, two thousands 2) a little money, two thousand BY Ao (10 Axio
3) a little money, two thousands 4) little money, two thousand

62-Eating too much chocolate can lead to weight gain. If your mother were here, I ... let you eat all those

chocolates.
1) am sure she wouldn’t 2) was sure she didn’t
3) am sure she didn’t 4) was sure she wouldn’t

63-The Boston Latin School, the first secondary school in the United States, ... in 1635.

1) and started classes 2) classes started
3) started classes 4) then classes started
64- According to the information we have, the robber tried to run away but soon found himself ... by
the police.
1) surrounded 2) included 3) stuck 4) accessed

65-Vaccination has been found to be a safe and effective way of preventing a/an ... caused primarily by
bacteria or viruses.
1) explanation 2) addiction 3) population 4) infection

66- Omicron, as well as other COVID-19 variants, ... affects people of old age, especially those suffering
from diabetes and respiratory disorders.
1) mostly 2) honestly 3) fluently 4) wrongly

67-The elderly woman took an old painting to an expert to ask about its worth and was surprised at how
... it was.
1) imaginary 2) fresh 3) immediate 4) valuable

68-They soon learned that ... strength refers to a person’s character, attitude and mental ability to cope
with stressful situations or challenges.

1) physical 2) inner 3) harmful 4) specific

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice on your
answer sheet.

Do we really need the Moon in the night sky? If the Moon ...(69)... to one day simply disappear, there would
be some consequences that would have a destructive effect upon life on Earth. Earth’s oceans would have
much smaller tides, and this could lead to mass extinction of land and sea animals. ...(70)... for animals all
over the world, as predators rely on both the darkness of night and a small ...(71)... of moonlight to
effectively hunt. Lastly and probably the most worrying, the Earth’s seasons could change substantially.
Without the Moon, it is possible that the Earth’s tilt could ...(72)... wildly.
69- 1) were 2)is 3) will be 4) are
70- 1) A lot of confusion could cause a missing Moon
2) Could cause a lot of confusion a Moon missing
3) Cause confusion could a lot of a Moon missing
4) A missing Moon could cause a lot of confusion
71- 1) amount 2) number 3) form 4) host
72- 1) exist 2) vary 3) gain 4) transmit
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PART C: Reading Comprehension

Directions: Read the following passages and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on your
answer sheet.

PASSEGE 1:

The population of British cities has been falling for years. Cities like Liverpool and Glasgow have lost about
30% of their population in 30 years. But Britain’s population is still growing. Then where are the people
going? Nowadays lots of people would like to leave their city and live in villages, especially after the terrible
COVID-19 epidemic of 2020.

Small towns and villages are becoming increasingly popular; people have more space and most houses
have gardens. But problems are growing. Lots of people want to live in villages and work in the city; so more
and more people travel long distances each day to go to work. Of course they don’t use public transport.
They use personal cars. And although they live in the country, they want to have access to big supermarkets
and good fast roads. Besides, lots of young people say that life in the country is tedious: there is not enough
to do; there are not enough activities and excitements. Little villages now have traffic problems in the
morning, just like big cities! And they are getting worse.

If everyone moves into villages, large parts of the countryside will disappear! People leave big cities to

escape from urban problems; but they are bringing their problems with them. Air pollution is now a big
problem in large parts of the south of England, not just in London. Traffic jams are now often part of life,

even in the country. Crime has become a serious problem in rural areas, too.

73- What does the passage mainly discuss?
1) How to control the population of British cities
2) The way of life in the countryside
3) New problems in British villages

4) A comparison between cities and villages in Britain

74-The underlined word “tedious” in paragraph 2 is closest in meaning to ... .

1) boring 2) hospitable 3) entertaining 4) frightening

75- According to the passage, the COVID-19 epidemic ... .
1) has forced people of Britain to go abroad in search of new opportunities
2) has indirectly resulted in traffic jams and other problems in Britain’s villages
3) has led to an increase in the population of Liverpool and Glasgow

4) has stopped the growth of population in Britain

76- Which of the following best describes the function of the underlined sentence in paragraph 3?
1) It provides the definition of a word mentioned in the previous paragraph.
2) It provides a solution to the problem mentioned in the previous paragraph.
3) It provides an example to support an earlier statement in the previous paragraph.

4) It draws a conclusion from the previous paragraph.
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PASSEGE 2:
The term “metamorphosis” is most often used in reference to the process of a caterpillar changing into a
butterfly. However, the word “metamorphosis” is a broad term that indicates a change from one thing to

another. Even rocks can change into a new type of rock. Rocks that undergo a change to form a new rock

are referred to as metamorphic rocks.

In the rock cycle, there are three different types of rocks: sedimentary, igneous, and metamorphic.
Sedimentary and igneous rocks began as something other than rock. Sedimentary rocks were originally
sediments, which were compacted under high pressure. Igneous rocks formed when liquid magma or lava—
magma that has emerged onto the surface of the Earth—cooled and hardened. A metamorphic rock, on the
other hand, began as a rock—either a sedimentary, igneous, or even a different sort of metamorphic rock.
Then, due to various conditions within the Earth, the existing rock was changed into a new kind of
metamorphic rock.

The conditions required to form a metamorphic rock are very specific. The existing rock must be exposed
to high heat, high pressure, or to a hot, mineral-rich fluid. Usually, all three of these circumstances are met.
These conditions are most often found either deep in Earth’s crust or at plate boundaries where tectonic
plates collide. In order to create metamorphic rock, it is vital that the existing rock remain solid and not
melt. If there is too much heat or pressure, the rock will melt and become magma. This will result in the

formation of an igneous rock, not a metamorphic rock.

77- According to the passage, it is TRUE that ... .
1) liquid magma that has cooled into a solid after emerging on the surface of the Earth is called sedimentary rock
2) unlike igneous and metamorphic rocks, sedimentary rocks are usually formed deep within the Earth
3) metamorphic rocks started out as some other type of rock but have been changed from their original form

4) out of the different types of rocks, only sedimentary rocks require high pressure to form

78-The passage provides enough information to answer all of the following questions EXCEPT ... .
1) Under what circumstances can a rock change into a new kind of metamorphic rock?
2) How many types of rocks are there in the rock cycle?
3) What conditions are required for igneous rocks to form?

4) Why is it that the igneous form of rocks does not include any fossil deposits?

79- Which of the following best expresses the author’s tone in the passage?
1) Informative 2) Uncertain

3) Amused 4) Worried

80- Which of the following sentences would most likely begin the paragraph immediately following the
passage?
1) Slate is another common sedimentary rock that forms from shale.
2) Granite is an igneous rock that forms when magma cools relatively slowly underground.
3) Chemical sedimentary rocks can be found in many places, from the ocean to deserts.

4) If limestone is found on land, it can be assumed that the area used to be under water.
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Part A: Grammar

Directions: Questions 81-90 are incomplete sentences. Beneath each sentence you will see four words or phrases
marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct
choice on your answer sheet.

81-... when the French parliamentary candidates started breaking promises they had made.

1) Had hardly the votes been counted 2) Hardly had the votes been counted
3) Had the votes been hardly counted 4) The votes had been counted hardly

82-... sooner, they would not have missed the beginning of the lecture which was presented by Dr. James.
1) My classmates had arrived 2) Had arrived my classmates
3) Had my classmates arrived 4) Did arrive my classmates

83-Dominic had said that he spoke German well, but when we got there ... he couldn’t speak a word.
1) turned it out 2) turned out it
3) it turned out 4) it turned it out

84-The young footballer carefully watched what the others were doing to see if there was anything to ... .
1) pick up it 2) pick it up
3) it picks up 4) pick up

85-The couple had a big fight at the restaurant, but they quickly ... and the things quickly got back to

normal.

1) made them up 2) made up 3) made away 4) made them away

86-1 usually want my hair pulled back in a ponytail, but they ... being down with big, soft curls.
1) insisted it on 2) insisted on it 3) on it insisted 4) it on insisted
87-Your minor differences are becoming a major problem for all of us. I advise you to ... for now and
do this project together.
1) put it aside 2) put aside it 3) put them aside 4) put aside them
88-1 had already compiled most of the information on this website when I first came across this book.
It probably would have made a lot of my research easier ... beforehand.

1) had I discovered it 2) I had discovered it

3) I had it discovered 4) had it discovered I
89-..., she argues, he wouldn’t have tripped and would still be alive today.

1) Had they picked up him 2) They had picked him up

3) They had picked up him 4) Had they picked him up
90-Not only ... my birthday, but she also didn’t even apologize for forgetting it.

1) she did forget 2) she forgot

3) does she forget 4) did she forget

Part B: Vocabulary

Directions: Questions 91-105 are incomplete sentences. Beneath each sentence you will see four words or phrases
marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct
choice on your answer sheet.

91-A lot of people in modern countries argue that humanity has made a ... mistake by considering
ancient civilizations to be primitive.
1) grave 2) domestic 3) fortunate 4) generous

forum.konkur.in



www.konkur.in

s

f oo by | yazio olais! oot VY Ogesl 40> 859

92-This case was investigated in 1947 in a war crimes trial, and of 30 Japanese soldiers prosecuted,
five were found guilty and ... .
1) hanged 2) hatched 3) declined 4) blessed
93-Some students and teachers believe that while online learning is ... important, face-to-face
interaction ensures a better understanding of lesson content.
1) surprisingly 2) obviously 3) diligently 4) suddenly
94-Happiness is fleeting no matter what your bank account looks like, but research shows money does,
in fact, give you short-term ... of joy.
1) sum 2) jump 3) burst 4) course
95-On his last day of teaching, the teacher was deeply ... by all the students’ farewell cards, kind
letters and sentimental comments.
1) concerned 2) ashamed 3) offended 4) touched
96-Ten years of incompetent government had brought about the ... collapse of the economy in this
African country.
1) appropriate 2) common 3) virtual 4) valuable
97-One shouldn’t ... the difficulties of getting all the political parties to the conference table; it is not
an easy job to do.
1) appreciate 2) underestimate 3) communicate 4) determine
98-We have concluded a ... with neighboring states to limit emissions of harmful gases, an issue which
all the states were willing to address.
1) campaign 2) sequence 3) recognition 4) treaty
99-The universe is ... to contain many other planets with some form of life, some of which the
humankind is intended to explore.

1) ensured 2) expanded 3) presumed 4) declared
100-Children are sometimes understandably ... to wear glasses that are ugly or uncomfortable.
1) auspicious 2) reluctant 3) opportune 4) remote

101-Alex was charged with murder but he was trying to ... his innocence and said the allegations
against him were all ridiculous in his opinion.

1) initiate 2) maintain 3) devote 4) enhance
102-As you definitely know, it is highly suggested to ... the cost of insuring a car before buying it.
1) seek 2) achieve 3) replace 4) consider

103-The increasingly specialized worlds of business, medicine, politics and technology are fueling the
explosion of ... like GI standing for Government Issue.
1) guidelines 2) provisions 3) abbreviations 4) progresses

104- Apple company’s main office is located in California, but they also have ... branches and customer
service centers in different countries of the world.

1) opposite 2) voluntary 3) various 4) hospitable

105-The judge listened dispassionately but with utmost ... to both sides’ claims to judge correctly and
fairly.
1) dedication 2) attention 3) reception 4) protection

Part C: Sentence Structure
Directions: Choose the sentence with the best word order for each of the following series. Then mark the correct choice
on your answer sheet.

106-
1) The students can use the common room at the evening on condition that they tidied up any mess they
make.
2) Students can use the common room in the evening on condition that they tidy up any mess they make.
3) The students may use the common room in the evening in condition that they tidied up any mess they
make.
4) Students may use the common room at the evening in condition that they tidy up any mess they make.
107-
1) Peace talks between the two countries which broke down when both sides reached an agreement.
2) As peace talks between the two countries that broke down when neither side to reach an agreement.
3) As peace talks between the two countries broke down when both sides to reach an agreement.
4) Peace talks between the two countries broke down when neither side reached an agreement.
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108-

1) Stored seeds can be used to help restore damaged or destroyed environment or in scientific research to
find new benefits for society in medicine.

2) Storing seeds can be used to help restore damaged or destroyed environment or in scientific research
find new benefits for society in medicine.

3) Stored seeds can use to help restore damaging or destroying environment or in scientific research find
new benefits for society in medicine.

4) Storing seeds can use to help restore damaging or destroying environment or in scientific research to
find new benefits for society in medicine.

109-

1) Either treatment that has no direct effect on the body or placebos, yet still work because the patient has
faith in their power to heal.

2) Placebos are treatments that have no direct effect on the body, yet still work because the patient has
faith in their power to heal.

3) Having no direct effect on the body, yet still work because placebos are treatments that the patient has
faith in their power to heal.

4) Patient has faith in their power to heal so placebos are treatments that have no direct effect on the body,
yet still work because of that.

110-

1) Nine tenths of the linguistic diversity of humankind will probably doom to extinction, if scientists
direct a worldwide effort to stabilize the decline of local languages.

2) Direct a worldwide effort and stabilize the decline of local languages by scientists, probably nine tenths
of the linguistic diversity of humankind will be doomed to extinction.

3) Unless scientists direct a worldwide effort to stabilize the decline of local languages, nine tenths of the
linguistic diversity of humankind will probably be doomed to extinction.

4) The linguistic diversity of humankind will probably doom to extinction, in spite of scientists direct a
worldwide effort and stabilize the decline of nine tenths of local languages.

Part D: Language Function
Directions: Read the following conversations between two people and answer the questions about the conversations by
choosing one of the choices (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

111-
112-

113-

114-

115-

116-

117-

A: James was suspected of cheating but no one had the courage to ...(111)... to him.

B: Well, I have every confidence that the new inspectors will ...(112)... in no time.

A: What will happen if they prove him guilty?

B: Then, he will get what he deserves. They must ...(113)... for other jerks. I’m a strong proponent
of the rule of law, not the law of the jungle.

1) feel down 2) put forth 3) get through 4) stand up
1) give it the green light 2) get under his skin

3) keep in touch with him 4) get to the bottom of it

1) spare him the trouble 2) make an example of him

3) give him goosebumps 4) give him a cold shoulder

A: Is she willing to change her mind?
B: Nope. She refuses to ...(114)... .
A:1Kknew ...(115)... that she holds a grudge against me and will never make up.

1) budge an inch 2) make a killing
3) hit the big time 4) shell out

1) on edge 2) hands down
3) all along 4) up ahead

A: Mike is not the kind of person who can rob a bank, and I believe it’s just gossip.
B: But I don’t think so. ...(116)... .

A: You could’ve fooled me. Please ...(117)... .

B: Get real Helen. I know that Mike is your best friend, but you should ...(118)... .

1) No use crying over spilt milk 2) There’s no smoke without fire
3) Once bitten, twice shy 4) Slow and steady wins the race
1) rack your brains 2) leave well alone

3) pull your finger out 4) look on the bright sight
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118- 1) ring a bell 2) face the music

3) keep track 4) live with it

A: Why did you agree that we would ...(119)... the picnic? It’s too much responsibility.

B: Well, now I realize that I ...(120)... going to these activities, but I have a lot less fun planning them!
119- 1) be in charge of

3) cut down on
120- 1) get used to

3) have a good time

Part E: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the
correct choice on your answer sheet.

2) throw away

4) keep away from

2) am mixed up about
4) find fault with

People yawn when they’re tired, but also when they wake from a night’s sleep. We yawn when we’re
bored, but also when we’re anxious, or hungry, ...(121)... a new activity. Yawning is ...(122)... and
we often start yawning the minute someone near us starts. “There are so many triggers. People who
sky-dive say ...(123)... to yawn before jumping. Police officers say they yawn before they enter a
difficult situation,” said Adrian Guggisberg, a professor of clinical neuroscience at the University of
Geneva.

But the physiological purpose of a yawn ...(124)... a mystery. “The real answer so far is we don’t
really know why we yawn and no physiological effect of yawning ...(125)... so far, and that’s why we
speculate. It’s possible yawning doesn’t really have a physiological effect.” Dr. Guggisberg said. Until
about 30 years ago, scientists explained yawning as a way for the body to take in a large ...(126)... of
air in order to increase oxygen levels in the blood in response to oxygen deprivation. But the
oxygenation hypothesis was ...(127)... after being disproved by a series of experiments published in
1987.

One current theory is that yawning is a brain cooling mechanism “that functions to promote

...(128)... and alertness,” according to Andrew Gallup, an assistant professor of psychology at the
State University of New York Polytechnic Institute in Utica, who has published studies ...(129)... the
topic. Yawning consists of a deep inhalation of air ...(130)... by a powerful stretching of the jaw,
followed by a shorter expiration of air and rapid closing of the jaw.
Collectively, these patterns of behavior increase blood ...(131)... to the skull, which can have a
number of effects, ...(132)... is cerebral cooling. ...(133)... our body temperature is warmer, we feel
more tired and sleepy, and it could be ...(134)... triggered to try to antagonize sleep onset, so we
yawn at night in a/an ...(135)... to maintain a state of alertness.

121- 1) but about starting

3) or about to start

2) or about starting
4) but about to start

122- 1) contagious 2) complacent 3) voracious 4) amicable
123- 1) that tend 2) they tend 3) who they tend 4) to tend
124- 1) remains 2) is remained 3) and remains 4) and is remained
125- 1) was observed 2) has observed 3) has been observed 4) observed
126- 1) margin 2) diversity 3) amount 4) discount
127- 1) confirmed 2) elicited 3) generated 4) discarded
128- 1) education 2 arousal 3) obesity 4) tedium
129- 1) on 2) with 3) by 4) in
130- 1) accompanying 2) accompanied 3) to accompany 4) which accompany
131- 1) host 2) wave 3) flow 4) tide
132- 1) one of them 2) the one which 3) the one of them 4) one of which
133- 1) What 2) Whether 3) When 4) Why
134- 1) evening yawns are that 2) evening that yawns are
3) yawns are that evening 4) that evening yawns are
135- 1) attempt 2) result 3) compound 4) element
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Part F: Reading Comprehension

Directions: In this part of the test, you will read two passages. Each passage is followed by some questions. Answer the
guestions about the passages by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on your
answer sheet.

PASSAGE 1.

When we look at the way in which biodiversity is distributed over the land surface of the planet, we
find that it is far from even. The tropics contain many more species overall than an equivalent area
at the higher latitudes. This seems to be true for many different groups of animals and plants.

Why is it that higher latitudes have lower diversities than the tropics? Perhaps it is only a matter of
land area. The tropics contain a larger surface area of land than higher latitudes—a fact that is not
always evident when we examine commonly used projections of Earth’s curved surface, since this
tends to exaggerate the areas of land in the higher latitudes—and some biogeographers regard the
differences in diversity as a reflection of this effect. But an analysis of the data by biologist Klaus
Rohde does not support this explanation. Although area may contribute to biodiversity, it is certainly
not the whole story; otherwise, large landmasses would always be richer in species.

Productivity seems to be involved instead, though perhaps its influence is indirect. Where
conditions are most suitable for plant growth—that is, where temperatures are relatively high and
uniform and where there is an ample supply of water—one usually finds large masses of vegetation.
This leads to a complex structure in the layers of plant material. In a tropical rain forest, for
example, a very large quantity of plant material builds up above the surface of the ground. There is
also a large mass of material developed below ground as root tissues, but this is less apparent.
Careful analysis of the above ground material reveals that it is arranged in a series of layers, the
precise number of layers varying with age and the nature of the forest. The arrangement of the
biological mass (“biomass”) of the vegetation into layered forms is termed its “structure” (as opposed
to its “composition,” which refers to the species of organisms forming the community). Structure is
essentially the architecture of vegetation, and as in the case of tropical forests, it is extremely
complicated. In_a_mature floodplain tropical forest in the Amazon River basin, the canopy (the
uppermost layers of a forest, formed by the crowns of trees) takes on a stratified structure.

136-The passage is primarily concerned with which of the following questions?

1) Why is biodiversity unequally distributed over the land surface of the planet and what factors

contribute to species diversity?

2) How does productivity indirectly influence the way in which biodiversity is distributed across the

globe?

3) Why do we usually find large masses of vegetation in the areas where conditions are most suitable for

plant growth?

4) Why is it that some biogeographers believe that the tropics have larger surface areas than they actually do?

137-Which of the following best describes the relationship between the underlined sentences in
paragraph 2?

1) The second sentence proves that the idea mentioned in the first sentence is acceptable.

2) The first sentence provides a general assumption and the second sentence confirms that assumption.

3) The first sentence contains a fact, whereas the second sentence provides an opinion.

4) The second sentence refutes the assumption mentioned in the first sentence.

138-Why does the author mention “Klaus Rohde” in the passage?

1) To support the argument that large landmasses are usually richer in species than smaller ones are

2) To introduce the argument that there are other factors contributing to species diversity besides land area

3) To cast doubt on whether the tropics actually contain higher species diversity than land at higher

latitudes does

4) To emphasize that biogeographers and biologists differ in their approaches to biodiversity

139-The underlined word “This” in paragraph 3 refers to ... .

1) large masses of vegetation

2) finding large masses of vegetation

3) the complex structure in the layers of plant material

4) the best places for plant growth

140-Which of the following best describes the function of the underlined sentence in paragraph 3?

1) It highlights the importance of the uppermost layers of a forest.

2) It exemplifies the complicated architecture of vegetation in tropical forests.

3) It argues against the main point of the previous sentence.

4) It draws a parallel between the structure and the composition of tropical forests.
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141-According to the passage, what is the main difference between structure and composition?
1) “Structure” refers to the arrangement of plant material above the ground surface, whereas

“composition” refers to the arrangement of root tissues below the surface of the ground.

2) “Structure” refers to the age of the forest, whereas “composition” refers to the nature of the forest.
3) “Structure” refers to the arrangement of plant species in an area, whereas “composition” refers to
which plant species are present in the area.
4) “Structure” refers to the shape of the forest canopy, whereas “composition” refers to the number of
crowns forming the canopy.
142-All of the following have been mentioned in the passage as conditions that benefit plant growth
EXCEPT ....
1) high temperature 2) steady temperature 3) plentiful water 4) high latitude
143-From the context of the passage, we can understand that when something is evident, ... .
1) it can be clearly seen or understood
2) it is not conspicuous at first glance
3) it expresses more than one meaning
4) it is subject to various interpretations
144-Which of the following best describes the author’s tone in this passage?
1) Biased 2) Skeptical 3) Critical 4) Informative
PASSAGE 2:
Firefighters are often asked to speak to school and community groups about the importance of fire
safety, particularly fire prevention and detection. Because smoke detectors reduce the risk of dying in
a fire by half, firefighters often provide audiences with information on how to install these protective
devices in their homes.

Specifically, they tell them these things: A smoke detector should be placed on each floor of a
home. While sleeping, people are in particular danger of an emergent fire, and there must be a
detector outside each sleeping area. A good site for a detector would be a hallway that runs between
living spaces and bedrooms.

Because of the dead-air space that might be missed by turbulent hot air bouncing around above a
fire, smoke detectors should be installed either on the ceiling at least four inches from the nearest wall,
or high on a wall at least four, but no further than twelve, inches from the ceiling.

Detectors should not be mounted near windows, exterior doors, or other places where drafts might
direct the smoke away from the unit. Nor should they be placed in kitchens and garages, where
cooking and gas fumes are likely to cause false alarms.

145-What is the main focus of this passage?
1) How firefighters carry out their responsibilities
2) The proper installation of home smoke detectors
3) The detection of dead-air space on walls and ceilings
4) How smoke detectors prevent fires in homes
146-The passage implies that dead-air space is most likely to be found ... .
1) on a wall, between four and twelve inches from the ceiling
2) close to where a wall meets a ceiling
3) near an open window
4) in kitchens and garages
147-A smoke detector should NOT be installed near a window because ... .
1) outside fumes may trigger a false alarm
2) a draft may create dead-air space
3) a draft may pull smoke away from the detector
4) outside noises may muffle the sound of the detector
148-The word “direct” in paragraph 4 is closest in meaning to ... .
1) manage 2) guide 3) apply 4) command
149-The passage states that people who live in homes with smoke detectors have a ... .
1) 50% better chance of surviving a fire
2) 50% better chance of preventing a fire
3) 75% better chance of detecting a hidden fire
4) 100% better chance of not being injured in a fire
150-The passage would most probably continue with a discussion of ... .
1) why fires are usually started in schools
2) how firefighters are chosen to speak in schools
3) other tips for installing a smoke detector
4) the difference between a false alarm and a smoke detector
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